#12

i H AR U R: v T H 25

Fsgdbis TAE& % 432001 - R 45 )7 HRIT P T H




G H S B irsR

B FEEGR B bR — R F8hn %7
CIES 59410
WS
o3
FAFE bR
NSRS . PR
RAGNA . FE Ak
5.00 ’%f?jﬁ%, ﬁiﬁi‘@ﬁﬁﬁéifé AR H8 b
B LI | o g
S AE00% £ P it
igii=tan
eEtshn
T e bR IR 55 X S 3 =
A FE bR
A bR
bR =0 =y =




b4 =7 7 FebriE R E=L vl HA™E HERA

A et "

e et P

AN 2 1 INFUT 2.4 Tt
i 5 ] INFEET 1.6 Jit
BRI R 1 INFAET | Tt
Q;‘i%ﬁﬁgﬁ@ FE T 12 31 HAj

R s b K BRAEHG

PRI iz i % 1E]A] RFEET 95 %
gL i KT%T 95 %
%%%ﬁ%ﬁ% 1E[A] RTET 220 Mg
i 2 il KTF4T 8 T
225 AR iEf KT 95 %
IrA TR ] INFEF 3.2 Ji ot
95 55 2% | INTEET 5.8 i
N T 5 ] INFEET 1 Ji ot
ZALI %5 9 ] INFEET 2 Ji ot
it 6] INFET 8 T3t
AU Tl et . "

il SR




Bl JIUC

e

15

15

1.5

1.5




W& 432001 - iR 55 Jm) HRIIEE L H

e R ZL- 430001ty 5 W T




20.00] A

HANIPR AN S TG
W3y, HIFXT AR
x5, BATHE A
ﬁl}(x

EX 2 TH VI

(g =Y
J TG bR
R8s IR 55 %5F G 3 72 P
CIERES3-A1
LY E TR
AR VG
gy =y
EEFH*T
Fe R bR
R T C—a— ARG bR
7o, RIS
J1, HERRERT TR
10.00 kSt ss, e
WRETESR TR, 2%l
SR ) o i AZ UK,
PEFERLAE o
B hr
ZRRRLEE
i€l s




T B e

%gggﬁg% SENE 12 31 H#if
'}y/ﬁﬁ'ﬁﬁﬁ% FE 12 31 H i

P A EF KFHT 100 %
FIRI T VORI

il BT 2 B I 1) KT 100 %
F PR B

M5l i T KF%T 9 %
FESEARTI I 25K N \

SPARAL R R T st

TSI 528 .

BN 5 s H:3)

AT LA

TR 5 Rl INFET 12 I
PR i AFEF 5 X
PR i KF4HF 1 0
RS 2R IE [ KT 95 %
R Rl INFET 45 Tt
FHTIL 5 % R INFET 1 T
SR 2L 2 iy INFET 3 T
NS T Rl INFET 05 JiTt
I B ey INFAET 1 Tt
L2414 ;

Jr AL i KTHT 2 i
el T KFHTF 60 #
BT I gt -

PTG LRI

F I i 2 £ et Tt

SIESE L1117 572

HElE T i — T —

B AR ERTT 4 EHE i

i/




10

15

15

2.5

1.5

1.5

2.5

10

10

10




TR Rt & 4 3% 43200113 TH 7 55 J=) R =RIE|

Té;%g%” BRI | 4a0001— iR 4 ) BRI




BN =t N [i}& 9037 y=9i%
IGiNiE it N
A 3FE b
skt
20244F 52 131 i T % WASE bR
it R AR
40.00 fiies, 3k, Hih
CUHANH L, AT g &
P CURIEI ) RN ¢ 6
40J17C. Bk EhE
BV
L E TR ARV E T
CIERES3-A10
B N e 55 %) G 3 7
s} R A8 B
MAFE b
Fe R bR
RH i, BRE
kg, ITiE LA
100.00|4L” AR, R R

WL MR S
LA

K E- e i




ol 1 KT%T % %
iy R T % 100 %
T i1 KT%T % %
f‘f%ﬁ(ﬁm}mﬁ 215 INTEET 12 ™A
58 U A I PR 1E[A] S 1 4
it A R INTAET 39.3 Ji%E
A 2 AFETF 0.7 VET
R A 6 i1 KFET 131 g
S A P i 1 % 3 %
W | -

EUE A e B %%

ST | e s

f bk IE KFHF 95 %
e Sei i KT4T 1 i
LAF R i . 1 -
Pl 2 AFET 60 it
Kl i ANFEF 5 VET
gﬁﬁﬁ@%% %1 INF T 10 Tt
Tl R 1 INTFET 5 VBT
iﬁﬂﬁégggﬁ Sz 1 INTEET 20 Yip
PR AR AR TE 1] RFAET 90 %
P R i i KT%T 90 %
AR . . ) "




10

10

10

10

10




— 2t DX A T P R
25

432001 -2 T 75 55 J7)

NSRS




EX 2 TH VI

W He bR IR 55 X S 5 T
CIERESS A1
Gy G TR ok
L2 e
Wi e R 55 %o} 335 T
‘fﬁ‘f;& Al FJ
b E TR ¥kt
28012y
B R br
I BIE TR,
ANEEEPRE PRI S
9(m&$ﬂ ks8R 5
V0 S i
B, T —ZAt X
A 3 R I K
FEH R bR
MAFE b

Ak 2str PE ke




TR A 1E Ii] KFETF 1 K
ZaEA 1E[A] KFET 95 %
S

B S
%mmﬁﬁﬂﬁ 1ETa] EHT 100 %
=iy | 1E A HF 100 %
AR A M
mm s E R iEE 1E 1] T 100 %
WS T
IR 554 X35 2 i 1E ] KFHETF 90 %
FRe R —Z
X A= 17 P o EME g
FIRAVEH
P —Z At X
A 3% R R T AR ENE e Y
mAGELT
%;EEJ{E E%&{ZISZI( M %EEE:*
H LT R —
Z At IX A 3% P 1E [f] KTFHET 1 K
A ELE
HETFRER)I W KTFHET 1 )
il i KT4T 12 %
W S 5% 2% 1E [i] KFHET 5 &
Zhnkb bt > ak;
X 4RI 1E [#] KFEF 2 w
F=INUN
NSRRI S ] INFEETF 1 Tt
BT E S [1] INTFEET 2 Ht
F ik H S Ii] INFEET 10 Vi
ZHol 55 3% S Ii] INTFEET 30 it
I S ] INFET 20 Tt
Ef il 3% S Ii] INFEET 10 Ht
i i ANFEF 22 It
PSR 1E [i] LT 1 /N

Ll




10

10

10

10

10

10

10

10

1.5

1.5

1.5

1.5

1.5

1.5




AR SR 22 1432001 - T 55 )5 TR A H




HYAXTH VI

RS
Hawizs
Y& L 2V
AT
B ST
3T 3 5 A YU A i
W TS CHEER -+
o
5.00|FRe HEsh A 16 B R RS S
W, 515 FE Ve WA
A b 28 7 B A T
[ 7= e
5 AT
IS4
W BB AT IR 45 X 5 2
AT

IR AR




i%ﬁﬂ”ﬂ¥iﬁ 1E[H] KTET 100 %
Way S B e % TE 7] RFET 90 %
B R YR . .

TS el bt

TR i A e

Rl 7 it Tk

fie

B 0

RS et WSl
IR R KFGF 5 %
T 1 5T 1 %
el 2 ) NFET 1 T
IV I [ INTEET 1.5 it
et ] NFET 15 st
e A 2 NFEHT 1 kD
T e T KF4F 90 %
L iE KFHF 9 %
TS 2 ANFEF 1 ¥
Egg EliEzalring 1E T RFET 95 %
A 1) KFETF 5 %
RPN

BRI AT IE ] RFHETF 95 %
IR

T El % 12 I
Pt Al e frp 5 1E [k RFET 95 %
HeIl g ] NTET 5 It




10

10

10

2.5

2.5

2.5

2.5

10

2.5




| 0] ST T B A Sk
R NSNS g o e R A
W

432001 -3 T 7 55 )

I =RyYE|

& 3t

OEual]: BN [ W0H A | -miE o H TS Sk Hisdk .




200.00

BB = KX AN
o LA KPR OE 2E vg
Jo e R R R B S
fESh BARME 559552, Tl
R e S FF R L0
JRE, Bl 4l
BENANES | SN R
SEiE s, BITRER
I ¢ o) JL T3 AT Sk
R TAE SIS 55
%%?“ﬁﬁﬂ%%ﬁ
" AT Hbn, 4y
ﬂ%”ﬁiiélﬁ

N EE e 7

AR

B ats

1,111.02




el d 5 1) NF T 14 it
I 5 6] NFEET 6 it
BT % P 5 6] NFAET 5 Jiot
ST 7 516 T 170 it
S50 B4 ol 8 i KT 5 %
PO ESALL

EETEK i1 KT 3 %
Lo L et e

ITRE

A RS et B

T

il et B

IR 35 %o G 3 T 1w KFET 95 %




2.5

1.5

1.5

10

10

10

10




